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1) seupns QunpBHweTenens CaIHOSHM0.
1) uflefls — &M 6ubF SpL AWy
2) Ugeungest QgL sumell — LIMEh&mev SpL Flwimenty
3) SIYNEEH[ — &M Syl Fweny
4) sev1&m — eflflamm SigEy
A 1,28&3 B. 2,3&4
C.1L,3&4 D. e1gi6|b Gevemev

Choose incorrect pairs.
1) Parikshat — Ruler of kuru kingdom
2) Pravahana Jaivali — Ruler of Panchalm
3) Ajatasatru — Kasi Ruler
4) Janaka — Videha Ruler

A 1,28&3 B. 2,3&4
C.1,3&4 D. None
2) sflunest sapenm CaIHOSH.

1) anpiium waseT spallsefley BOL&Eens G&mess(h
SuDled QBB SHGEn6TL LNGISNSSHE QsmeTer
6T TraISHER6I LIWI6STL (5SS 60T

2) gum woHMD FBHulleT (WPEEWSGIeUD NHSTeV

Ceug BMeSS6L GEODHHI!-
A. 1wl (b B. 2 b (hid
C.1&2 D. s1igi6yb Qsvemev

Choose the correct statement.
1) The Harappan people believed in ghosts and
used amulets as protection against them.
2) The importance of Samiti and Sabha
declined during the Later Vedic period.
A. lonly B. 2 only
C.1&2 D. Neither

3) SpsseviLeupmien USSflest mHetIE 2 6tTeRIS
2 evteninseiflev Heummnestg) 615?

A. 2.6081D gletTUID HleOMHSHGI.

B. 9655 gleTUSHEH DS SMIewID ShenrFEuLl.

C. opemaserilev GHba ell(HULLTE FleTLISmS B
Plowid.

Learning Leads To Ruling

D. @aumenmGweveornd Q&iw Hmbs Famigener 5

Nestumm Geussst(hid.

Which of the following is incorrect regarding four

Noble Truths of Buddha?

A. The world is full of suffering.

B. The cause of the suffering is desire.

C. If desires are get rid off, suffering can be
removed.

D. This can be done by following five great
VOWS.

4) SpseuLeunmie Fflwnestens CHIHOS®H.

1) o1Gev&amesorLl 327 BC 6v @b5)I(&6ip emevemid
LIS S LSS L DS MBIGENTTS 10
L@ loullesT(pL6tT FestTemL WL (58 ©CSTessTI(HHSMI.

2) @eueny sEsFeon opHwmeny oLl Liflwions
sunGeummm.

3) emamL ey Gumfleb HIE6V&HFTEBITLIT &6sTL
spLHwnermymest Gunmyemeny CHMMHSLSSMI.

4) @eury uMiIGsvresflsy 320 BC 6v @mb&i.

A 1,2&3 B. 2,3 &4
C.1L,3&4 D. Siemesisgid

Choose the correct statement.

1) In 327 BC Alexander crossed Hindukush
mountain and spent nearly ten months in
fighting with the tribes.

2) He was warmly received by Ambhi the ruler
of Taxila.

3) In the battle of Hydaspes,the ruler of chenab
porus get defeat by Alexander.

4) He died in Babylon in 320 BC.

A 1,2&3 B. 2,3 &4
C.1,3&4 D. All

5) Quemfluy upmlw sflwnes samenm CaiHCSM.
1) Qusmflwiy HljeunssSle Sievwsgrensy LUGTTE ST,
wer  whSHH, CremHud LOHMIL  WeurTYm
A SCWMeny 2 66 SEIG).
2) Quemflwy MHijeunssdHlev Hleveufl GLFleuTs:
2 HusHluilev 1/6 urisns HljesoruilssurLg).
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A 1w (ho B. 2wl (hbd
C.1&2 D. e1g1611D @6v6m60

Choose correct statement regarding Mauryans?

1) In Mauryans Administration Mantriparishid
consisted of Pirohita, Mahanantri, Senapathi
and Yuvaraja.

2) In Mauryans Administration land revenue
was normally fixed as 1/6' of the procedure.

A. lonly B. 2 only
C.1&2 D. Neither
6) eflwuneriens CaNHOS (-

1) Gsmp opanmest (PHeLMD AHEWT  HeoL g
LISV6VEUIT HEFTTETT SLITTES|Geme6nT CHMMHSISHSTI.
2) ueveveu BH CaMLrisents LflaslulinbhHSgI.

3) u6vevEU] HMVSHL EMFAILD  EBBUETTTEU(WLD

QUG H& G-
A 1&2 B. 2&3
C.1&3 D. 1,2&3

Choose the correct statement.
1) The Cholaking Adithya I defeated the last
pallava ruler Aparajita.
2) The pallava state was divided into kottams.
3) The pallava period witnessed the rise of
Saivism and Vaishnavism.
A 1&2 B.2&3
C.1&3 D.1,2&3

7) SwsseviLaupmiet (pHwG  HPlesfl  LDHMIw
seupnesst sapenm C5HCSE.

1) @evLssmen eugeomHm(EhissT Selesfl (p&wens
@eVevMSI WSS\ 65T HSHMBTUISHESTTS &(HH6sTT.

2) smsHWIHEHD,  Splsmeilug  SHEH
@nglwumeailss LeLQW(HSHS eufleuEssai QeuCy

ShEUT.
A. 1wl (H1d B. 2o (hid
C.1&2 D. s1g161b @6vemen

Choose the incorrect statement regarding
Muhammad Ghazni.
1) He was considered as a hero of Islam by
medieval historians.

Learning Leads To Ruling
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2) He paved the way for the Turks and Afghans
for further conquest in India.

A. lonly B. 2 only

C.1&2 D. Neither

8) Nesreu(mHLd SpLAwnenjsemer &ev
aflensliLB5g)s.

1) gerlwim 2) LmeLIesT

3) ®SUSeT Pus 4) @evgiislei

A. 1-2-4-3

B. 3-4-1-2

C. 2-4-1-3

D. 4-1-3-2

Arrange the following rulers in chronological
order.

1) Raziya

2) Balban

3) Qutbuddin Aibak

4) Iltumish

A. 1-2-4-3

B. 3-4-1-2

C. 2-4-1-3

D. 4-1-3-2

9) afleusmilaEn&E sosnall b sLeT 2 5alfl
Qsnens S LHmns Sfl(walubsSweur wimj?

A. (psg) L6 518618

B. sievmeydett lsvgd)

C. Hlwnadett &i66m8

D. QuGnmepr gi&6ns

Who launched a scheme called takkavi loan to
farmers?

A. Muhammad bin Tughlaq

B. Alauddin Khilji

C. Giyasuddin Tugqglaq
D. Firozshah Tugqglag

10) sfluns QunpBSweteneng CsIHOS®H.

1) @usny Hleod — @&smiserflest CFemeus (6ThéasmesT
SLL6sTIHSH M@ LSHeons egissLLLL Hlevld.

2) smelen  Heod - &evgrensetles Gy
SL(HLIUML 960 Q(HHS Hlevrisei
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3) @evtrid [Bl6vid - FIOUI HEDIEVEUTSHEIT D6V6VG| FLOWI
BlmI6UetThISEHEE Camh&EsLILLL Hleomkige
A 1&2 B. 2&3
C. sienenisglid D. e1g1611b @6v6em60
Choose the correct statement.
1) Igtaland - land assigned to officilas as iqtas

instead of payment for their services.
2) Khalisa land - land under direct control of

sultan
3) Inma land - land granted to religious leaders

or religious institutions.
A 1&2 B. 2&3
C. All D. None

11) Spseoneubmiet  eunmest

&neugHlev meo QUM Cujs6iT sTemeu?

Gameivigsien

1) Gyrdsveorms Guimy

2) (pa60md opmISGsowl TGS GUITy
3) @neserLmd oS Gevwt S Gumy
4) &60MDd SphIFGevl 6w T Gumy

5) @nesoTLD S rhiHGevlienio@, it Guim-

A 1,23&4 B.1,2&5
C. 3,4&5 D. 2,3&4
Which of the following wars are fought during the
period of Warren Hastings?
1) Rohilla war
2) First Anglo Maratha war
3) Second Anglo Maratha war
4) First Anglo Mysore war
5) Second Anglo Mysore war

A 1,2,3&4 B. 1,2&5
C. 3,4&5 D. 2,3&4
12) geumnevtens CsimHO\S®H .

1) snreeumeflemervg Q@sMLIbBE  Seujest)

Qgesreons  GQuUIMILIGUDMeuF Gamervigrieny Ly

SHeUMT.

2) e Gamevprey  aiEss  senuufle
H(H555608 GCLMHG SMESHTLITI.

A Twl@Eo B. 2 0 (b

C.1&2 D. emgj6ylb @6osmey

Choose incorrect statement.
Learning Leads To Ruling
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1) Lord Hastings succeeded Cornwallis as

Governor General.
2) Cornwallis reformed the Board of Trade.

A. lonly B. 2 only
C.1&2 D. Neither

13) QUMBSZ)5.
a) Hmeipesorymeam III — 1) wrmgHwissi
b) gr@uned) — 2) &FmILsN
c) mrestT Ll estallery — 3) eLo(@
d) 2.wng-26v-2.0pT — 4) S(EHEMQLTT
A2 3 4 1
B.14 2 3
cC.4 2 3 2
D.3 4 1 2
Match the following.
a) KrishnarajaIIl — 1) Marathas
b) Sarafoji — 2) Karantaka

¢) NanaFadnavis — 3) Mysore
d) Umat-ul-umara - 4) Tanjore

A2 3 41
B.1 4 2 3
C.4 2 3 2
D.3 41 2

14) @nHuneilet CxHlu s  (PHefev  6MHS
LOMBITL g6V LIMLLILLLG)?
A. sevs:55m 1896 B. wwenu 1911

C. (pwemu 1896 D. sevas5sm 1911

The National Anthem of India was first sung in
which session?
A. Calcutta 1896
B. Mumbai 1911
C. Mumbai 1896
D. Calcutta1911
15) SipsaevoiLeummisit Fflwunestens CoiHOS (0.
1) aurasmen  opflw FepsHemns 1784 6o sumgest

Gamenvigrisiv Himieileormy.
2) Amsiyfle @hHwu Gzl premieud
BlmleuliulLg).
A. 1L @0 B. 2 b [{
C.1&2 D. e1g16b Q6vemr60
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Choose the correct statement.
1) Warren Hastings founded the Asiatic Society
of Bengal in 1784.
2) Indian National Army was founded in
Singapore.
A. lonly B. 2 only
C.1&2 D. Neither
16) Sweiteneummiet &nHH erHement LleTCHHUNLL
&nCFNem6v 616T auijeunilsSmj?
A. &fluen uflbglennse
B. engwstr (G weailet SinflEens
C. geyeol_ &L LI
D. GsUlesTl. g i@ SLLLD

Which of the following was stated as post dated
cheque by Gandhi?
A. Cripps proposal
B. Simon Commission report
C. Rowlat Act
D. Cabinet Mission plan
17) S1pssevoTLaummIeT Heupneiens GBS0 .
1) @mmgGsmuneongenfl @bHwneilesr HenLd
S6j6sT (C1e6BTT6L DEUMT.

2) Gueyib @iHwneallev Lmbgs @nHlwrealles (Lpasv
seurjestj Glegestrev QeuGrwimeury.
A. 1wl (Hw B. 2w (B
C. 1&2 D. sigiaib Qevemev
Choose incorrect statement.
1) Rajagopalachari was the last Governor-
General of India.

2) Futher more, he was the first Indian-born
Governor-General of India.

A. lonly B. 2 only
C.1&2 D. Neither
18) fedTeu(mid Hlaesenens &MesoT

aflenslu(G58)5.

1) opzevl pflsemns

2) LL6oTT eLILIBSLD

3) eyesToMeug) eul L Geng ABM(H
A 3-1-2 B. 2-3-1

Learning Leads To Ruling
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C. 1-2-3
Arrange the following events in chronological
order.

1) August offer

2) Poona pact

3) Third round table conference

D. s1gle|b Qevemnev

A. 3-1-2 B. 2-3-1

C. 1-2-3 D. None

19) SpssaviLaummieT  Heummest  Famenm
CaiBos6

1) Homelll wargest Femusnw  CsmhmielsHseuT
SHCWNSHSHNE LI6TOTIBIT Dp6UTIY.

2) 1921 psev eueny Qasttement mblevgs 1936::Gv
Sh(EHLD HLAWS @HHw CaHw s ren QBHSS!.
A 1w (o B. 2wl (hbd

C.1&2 D. s1gleyb Qevenev
Choose the incorrect statement.

1) The Dravidian Mahajana sabha was founded

by Pandit Iyothee Das
2) Indian National Congress is the ruling party
of chennai state between 1921 to 1936.

A. lonly B. 2 only

C.1&2 D. Neither
20) SpssevuiL by FLLID QrudleontbSleyieiten
@iHw selstiflellev @iHwisenen Hlwdlss g 27
A. @S seyetrFlev L 1861

B. @p&Hw seyestdlev sl L b 1892

C. @pdHw seyesiFlev &l L b 1909

D. wnesor@L(g GFwevGuni(® HpsHs sl 1919
Which of the following Act appointed 2 Indians to
the Indian Council in England?

A. Indian councils Act 1861

B. Indian councils Act 1892

C. Indian councils Act 1909

D. Indian councils Act 1919

21) @eflésaunsd Qs HlesoEnIMIILSefles 3
KoL QUMIEIMS) Siemeulleneu?

A. LIGMI& 655115 MbIS61T, 6oL GL g messTL_iflwim,

QuTEenSB&FMb &6
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B. 60608sm@amiD, LI&bI56501 &I &6,
QuTEBenS) GFmb&H6TT

C. Gsmevens;, eool GL s mesorL_flwim,

LI B8 60011 8 M g6TT

D. e060C8aFM@am, QuTEBenS) G Mb &6,

6ol GLrssmesorL_flwim
Photo respiration involves three cell organells.

What are they.

A. Chloroplast, Mitochondria, Peroxisome
B. Lysosome, Chloroplast, Peroxisome

C. Golgi, Mitochondria, Chloroplast

D. Lysosome, Peroxisome, Mitochondria
22) Qun(p58)5.

a) Spu spnd — 1)  eowl GLnsmesutLflwneaisy
GuLflgen LGdlullev HemL QLmLD.

b) wis@uilestmett — 2) maHLD Caiflwijaeit

c) HevensCamefidlev — 3) emal GLmilennagHlev

BemL QUMD
d) oifllenLed glevewr  elesemerd  —  4)
enal GLmilemmagHlev BHg

emLoL GL e messTflwing@ LifeyL

A2 3 4 1
B.3 21 2
C1l2 3 4
D.4 1 2 3
Match the following.
a) Kreb's cycle — 1) Occurs in mitochondrial
matrix
b) Ubiquinone — 2) Mobile carrier
c) Glycolysis — 3) Occurs in cytoplasm
d) Acetyl co enzyme A — 4) Diffuse from
cytoplasm to mitochondria

A2 3 4 1
B.3 21 2
C1l12 3 4
D412 3

23) seundlggellett Qi Hapeailenes sflwns
auflensliLBSSaL.

1) 6TeL&LTT6tT HL GG Fradlel)

Learning Leads To Ruling

Prepared By www.winmeen.com

2) glemenamedlenslerv
3) &gl spHd

4) emL(Hefls L6 SpEenSleGesTHm SMTLIET [HEHELW
A. 1-3-2-4

B. 2-3-4-1

C. 3-1-2-4

D. 2-4-3-1
Arrange the stages of respiration in a logic way.
1) Electron transport chain

2) Glycolysis

3) Kreb'scycle

4) Oxidation decarboxylation of pyruvic acid
A. 1-3-2-4

B. 2-3-4-1

C. 3-1-2-4

D. 2-4-3-1

24) snmfleveor HEUNg 2 ullj5(EH 55
1(H5HGISHSHML(H&6IT Wireneu?

A. unsleflwm, FrevL

B. unsleflwm, u&w reurLd

C. meluL, L,(Epen&

D. u&Ld Hmeurd, el
Which of the following are anaerobes?

A. Bacteria, Yeast

B. Bacteria, Green plants
C. Yeast, Fungi

D. Green plants, Yeast
25) wesflzeuflev

Qs mesorCLMLGrmidlest NP2 (]

Gamflwmnesfls
1l @Hwns

snesoTLL(Heug eTLQUTE)?

A. &FUU sMev 4L Hlemev

B. siuusmev (plgey Hlemev

C. Gynens Un&@h Gums)

D. wngeflLmig@L Llebr

In humas, chorionic gonadatropins reaches peak

A. Early stage of pregnancy
B. Late stage of pregnancy
C. After Parturition

D. After Menstruation
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26) seupns QuNEpHHWeTenens CaIHOSEH

A, SPUQUHERF DT - p&HF6T Q6V6VT TEHHENS
seneouilev Q(mHg CUmID

B. uev@urertfl swesll - memyuinensE <psSlegstt
eveuns 1555605 10S51F GFevgulld

C. @amumys sesll — GHLEYISHSE peFQ6sT Qevevns
1555605 61(0S5B1F CFevguID

D. Guh GQuhErflevr — o &Fgstt  eveons
15550 2 Leflett &1 2 miliLserfleo Hbg GumD
Choose the incorrectly matched pair.

A. Inferior venacava — Receives deoxygenated
blood from the head
B. Pulmonary artery — Carries deoxygenated

blood to the lungs
C. Hepatic artery — Carries deoxygenated blood
to the gut

D. Superior venacava — Receive deoxygenated
blood from the lower parts of the body

27) opsvor wHMID e Hluseflwenvseflesr
B evevotey
A. HeiGsL] B. @emetoigen

C. @rlenL smeumissd D. epailenssrey
The process of fusion between male and egg nuclei
iscalledas ____.

A. Syngamy

B. Conjugation

C. Double fertilization

D. Triple fusion
28) oevfifluy Cumi ubmplw Fflwunes Famenm
CEYEETCY

1) Leyetterv Gmmit GMui(h 2 simemeusener QbEHTL
SIFHSHD LNSH&(G)LD.

2) Qu@ewsmer  ypessil  u@Hullest  BeSley
&nevstong QbEHML eFHL(BSMEI.

A 1wl @w B. 2wl B

C.1&2 D. sigiaqb svemev
Choose correct statement regarding the
Alzheimer's disease.

Learning Leads To Ruling
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1) People with Down syndrome are susceptible
to this disease.
2) It occurs due to an atrophy in the central

cortex.
A. lonly B. 2 only
C.1&2 D. Neither
29) QU5 5I5.

a) eflwmestid — 1) Bl Lesflesr afls)

b) &nbm usyrsst — 2) @ujssTieSlsiv H&gGl6uld
c) TsE&L — 3) Qeulill @uiss il

d) Bymell erb o — 4) eoLwnessiL aflems
Al 4 3 2

B.31 2 4

C.2 41 3

D.4 2 31
Match the following.

a) Aeroplane — 1) Newton's law

b) Airballon - 2) Bernoullis principle

c) Rocket — 3) law of thermodynamics

d) Steam engine — 4) Buoyant force
4 3 2

1 2 4

4 1 3

D.4 2 31
30) emeunsHlett erflaflevasy etevor 2.42 gerflufletr

owp
N W+~

HengGasseng QuIBSs QFQENHQMMLiflesr

Qum(meiT wng)?

A. geflunengy) smhenm eflL enaunsdHled e Heng

Ceoussdlev GFsv&mg|.

B. geflunengy smheom efll emeunsdHlev (@Hevmbs

HengCousslev CF6LEIMg.

C. smhm LHMID emeund Gresorigevid eerfluflest

HenaGeusld FLOIW.

D. e1g16b @6vemr60

Refractive Index of a diamond is 2.42. Its meaning

with respect to velocity of lightis ___.

A. Velocity of light in diamond is more than the
velocity of light in air

B. Velocity of light in diamond is less than the
velocity of light in air
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C. Velocity of light in diamond and air is equal
D. None of these
31) GuniLny eunsevmiseflev 2 6o Geussiomesflaei

S &6TTL 615607 JligliLemLuileb QFwevLIBEME)?
A. Gpidlems 8letT@eTTLL LD
B. &1p6v 16l65T@ 60T L LD
C. &imett @uoLiLflevr lesT@epTTL L LD
D. @euliu WlesT@ewTmLL LD
Which of the following is used in the meaning of
speedometers in automobiles?
A. Direct current
B. Eddy current
C. Wattless current
D. Thermoelectric current
32) QU5 SI5.
a) 555 Siblevld — 1) 2 qraisei
b) eopLfl& Sidlevd — 2) @erfljumestid
c) emanl Gy &8emmflé iflevld — 3) Ll6BTEHE0MHIGET
d) smjunesils islevld — 4) sifleuenm &HHSHLD
A2 3 4 1
B.1 4 2 3
C.31 4 2
D.4 31 2
Match the following.
a) Sulphuric Acid - 1) Fertilizers
b) Nitric Acid — 2) Cool drinks

c) Hydrochloric Acid — 3) Batteries
d) Carbonic Acid - 4) Toilet cleaner

A2 3 41
B.1 4 2 3
C31 4 2
D.4 31 2

33) seumnest Qensvvrenw GBS0
Siblevld/sny HIDBISTLl Bl

A. sy - Q&H60 2pTERE - HleuliL

B. smpw - UlestmevligeSlssr - @emehdleuliy

C. siblevd - Q&H6v 4T(ERSH — QemEpleuliL]
D. siublevid - Lilevtmevligeslest - HImwHmE).

Choose incorrectly matched pair.
Acid/Base indicator color

Learning Leads To Ruling
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Base — Methylorange — Red

Base — Phenolpthalin - Pink

Acid — Methylorange - Pink

D. Acid - Phenolpthalin - Colorless
34) wss HSlSs 2 BeonsmkiG6T Wreneu?

owp

1) emLLLmesflwid

2) eCrmslwibd

3) s ests

4) AijsCsmesfluid

A 12 &3 B. 2,3&4
C.1,3&4 D. sienenisg)n

War craft metalsare____
1) Titanium
2) Chromium
3) Manganese
4) Zirconium
A 1,2&3 B. 2,3&4
C.1,3&4 D. All
35) SieverflGameiv 2 Beunad Hevemeuuilev (PSHEH W

LIWI6bT Wng|?
A. et FNGewT H(He HWfl&Hs
B. opamw allomest FngesthiseT SWwimflés
C. MhHmhIG6T SWfléHs
D. e1g1eib @svemev
The use of an alloy Alnicosis _____
A. To make electrical Appliances
B. To make aircraft components
C. Tomake magnet
D. None of these
36) Uebreugpeustraummieit 2 euflett  WlsLGUIflw
Gzemeu Qzmdlev 615)?
A. 2 6v5160y LISLIL(HSSIHE
B. euraié
C. smuld(®
D. smmieorn
Which of the following is the largest service
industry in the world?
A. Food processing

B. Bank
C. Insurance
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D. Tourism
37) SpsseviLaupmiet  QLISE 2 emMBIL(H
2 HusSHluflest Fwesmun(® 615)?
A.GDP=C+I+ G+(X-M)
B.GDP=C-G+I+(X-M)
C.GDP=C—-(X-M)+I+G

D. GDP=1-C+G+(X-M)

The formula of GDPis ____.
A.GDP=C+I+ G+(X-M)
B.GDP=C-G+I+(X-M)
C.GDP=C—-(X-M)+I+G
D.GDP=1-C+G+(X-M)

38) MIGA etettug) ____

A. @BEHW LTS SITE (PSHEDILD

B. uettestn(h ((p&6SL(H 2mid) S L (p&HeoLo
C. oipdflest QLLUIGLIWITEY (LP&HEBID

D. Qungy slpasHlett 2 milifeoty

MIGA refersto ____

A. The Multi Indian Government Agency

B. The Multinational Investment Guarantee
Agency

C. Migration of Government Agency

D. Member in General Association

39) SssevrrLeupmieT Fflwnestens CHIHOSM.
1) @&evey aufleow HP(WaULGSSweur N. smeoLij
2) 2pusd BLekEMSSHNL  DTE  LIBKIE
Qa&meimenmoed  QHEGWL  Q&MeTems  HemeowllL s
Q&M6iTens 61687 HMPSHSLIL(HEIDS).
A 1ol @ B. 2 ol (B
C. 1&2 D. s1g161d @6vemen

Choose the correct statement.
1) N.Kalder advocated tax on expenditure
2) Non-intervention of the government in
production activities of the policy is called
Laissez-faire policy
A. lonly B. 2 only
C.1&2 D. Neither
40) SpssevoLaummier Ffluneeng C5iH0s 0.
1) @bHwmalles pgev efleusmu  HeEsHLIL
6T(F&HULLL Spevor(h 1970 — 1971 oy (5Ld.

Learning Leads To Ruling
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2) @nHuneailed 2 NhIGEHHSTeT 26 L FFSHEH6T
SiglitenLufleonest wresflwg QameTens Q@MW
opeso® 2010.

3) gausl Crmegsy SHLLbd 1989 b o

QsMLBISLILLLG).
A 1&2 B. 2&3
C.1&3 D. SiemestdHgid

Choose the correct statement.
1) The first agricultural census in India was
conducted in 1970 - 1971
2) The Nutrient based subsidy policy for
fertilizers was implemented in India in 2010
3) Jawahar Rojghar yojana was introduced in

1989
A 1&2 B. 2&3
C.1&3 D. All
41) eunewsflu @@Ly Hlemev eTebTLIS)
A, sevvesollD@ UeOLILLNE Mo  HMID
Bm&EW0E Qevhiserlest &I
B. gmiwd) 2 Liifl
C. o&eolems@ Uevern@h  egomindl  Hmib
Bm&EW0E Qevhiserlest &I

D. &esolemish@ UeolU(HDd  OHMID  LevlIULS

Bms&GWs ghmind Qevmissrlest S

Balance of Trade refersto _____.

A. Value of invisible items of exports and
imports

B. Export surplus

C. Value of visible items of exports and imports

D. Value of visible and invisible items of export
and import

42) @ndHwmeiles Capdw

SeotisEl(HID SjeMoLIL Wg)?

au(IpLoMesTSH6mest

A. wsHw Ysiterfluflwev SiemioLiy
B. mblev Leterfluflwed siemioiLy
C. hl&) opBwins

D. Gadlw eusmijEd (G

In India National Income is calculated by
A. Central Statistical Organization
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B. State Statistical Organization
C. Niti Aayog
D. National Development Council

43) QuN(K55Is.

a) @Qmev 2 HuSH — 1) LEpsL HMID amiflwmestT

b) Gangleow 2HusHH — 2) safs LOMID GCLMHE
Hevdlifl

c) gewstev 2 HusSH — 3) 25570 UCsend WwHmD
G surhisTerDd

d) smdl 2pusdH — 4) Cui@ eumkismeTD HMILD

SIEMD

A2 4 3 1
B3 1 4 2
C1l1 3 2 4
D.4 2 1 3
Match the following.

a) Rice production — 1) Punjab and Haryana
b) Wheat production - 2) Coorg and Nilgris
c) Jute production — 3) Utter Pradesh and West

Bengal

d) Coffee production — 4) West Bengal and
Assam

A2 4 3 1

B3 1 4 2

C.1 3 2 4

D.4 2 1 3
44) ehs SpHYIL UETETESTEG QbSlwnelles erbiy

6TebT)| SiEMPSHLILHEIMSI?
A. snGnsiy B. Gand
C. wanpH D. Gangmeurfl

Which river valley is called as the Ruhr of India?
A. Dhamodar

B. Kosi

C. Mahanadi

D. Godavari

45) envL_gm_GLmerofwiy ENO:T:3 00 2 Wiy

s fleEn  Gung asesmey  euerfloesuTL 60
Qeutiublensv SiFsflESEme)?

A G&AwuesE W8 SimSled @IBLUSTey

Learning Leads To Ruling
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B. LGymGumevliiwy oi(h&sHlenest el LGS
(BHENMEUNTSH @(HLILIST6V

C. siflserel oi05s55S0 GBUILSTE

D. @&mett 21(H5(& Q(HLILSTEL

Why does the temperature increases with altitude
in the stratosphere?

A. Because it is closer to the sun

B. Because it is less denser than troposphere

C. Because it is under a lot of pressure
D. Because of the pressure of ozone layer

46) sflwnestens CaiHOS (-

1) 2885 BHEHweimshHesr pfleyenr (SleWTES
seneveuen] SL(HLULMHSSTS).

2) wrbev 2wibHwesm BHuSHsewer (Flpwras
Femevaulj Hlwoestd Q&S .

A 1w (o B. 2wl (hb

C.1&2

Choose the correct statement.
1) The advice rendered by the Supreme Court is
not binding on the President
2) The High court Judges are appointed by the

D. s1glayb Qevenev

president
A. lonly B. 2 only
C.1&2 D. Neither
47) Netreu@pueuisEmer wnmy  Fal®  omblev
CajeunenesoTius e s 2 (HeUnsGLd EXEAL ) i)
Q& mesoTL6UI)?

A. (BlWIEs Gemeveury
B. unmym@rpLoestmLd
C. getflw SipaLiLessilwmeny GsjeumemessTiiLd

D. &ibsHs Wblevrkigerflesr o embT

Who among the following can create the Joint
state public service commission?

A. President

B. Parliament

C. UPSC

D. The Governors of respective states

48) fetteu(meustteumnilev 2 && BHlwestmsHlest HHLI

Gunmenesvor S S\smy 6TEV6EDIED 6UILDLY55(&61T
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auHeustTaumenm SesoiLmlibg Seumnflev Fiflwmeot
gapeom C5BOSE.

1) opliuemL  2femwseT  SHeTESSH MaTesT
BHLUGUTTEnsTET eupraiGL LnEHCWs 2 flemweniu
2 &8 BHletimld Q\&TessT(H6iTeNnsg).
2)  unmgmepstO  LOHD  CEHIEHHIGEDHSHE
BHHLICLTTeneTTTENW  6UPhIE 258 BEHLTNHH DS
SHSBID 61Tl &SH60IMLD.

A 1w (Ho B. 2wl (b

C.1&2 D. e1gi6|b Gevemev

Consider the following regarding the writ
jurisdiction of the Supreme Court and choose the
correct statement.

1) Supreme Court has exclusive rights to issue
writs for the enforcement of the
Fundamental Rights

2) Parliament can confer on the Supreme Court,
the power to issue writs for other purposes
also

A. lonly B. 2 only
C.1&2 D. Neither

49) wrflevriseflesr eamlwsens unmlw Fflwmes
sapflenen CoIHOSE.
1) @bdlw salLemwliy, HOWLHES &alLenoliy

Gumestn omHlevraiserilett 2 LesTLpdhensWlesT ailensmey

S{6v6v.
2) Fal LemwoliLilev QmHa! afleu@eusn(s
LMTHl6VAIS(ETHEE, 2 flemLn 2 6to1(h.
A. 1oCED B. 2 bl H
C.1&2 D. sigi6yb Qevemev

Consider the following regarding the Union of
States and choose the correct statement.

1) The Indian federation is not result of an
agreement among the states like the
American federation

2) The states have right to secede from the

federation
A. lonly B. 2 only
C.1&2 D. Neither

Learning Leads To Ruling
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50) ebTeu(meussToummyeir SieveTLMjlpsnailev

SnevoTlLLIS Tmi&H Hlemevwid 615)?
A. emw5Hfl  B. soaflett smGsHMsIf
C. umgg) D. anflonsif

Which of the following research stations is not
found in Antartica?

A. Maitri

B. Dakshin Gangotri

C. Bharati

D. Himadri

51) @bHw Sipflwevenioliy Hlijevonu  Femuuilev
asgenent GQueser 2 miLSlestigeit @ (HbeuT?

A7 B. 11

C. 13 D. 15

How many women members were there in the
Constituent Assembly of India?

A7 B. 11

C. 13 D. 15

52) SpsseaviL  ahy FLLSHET  ewevlons
SUIPBL LpetT
QuesniaEhsE 50% QL 81580 SieflsaiuLg?

2 eitenm_&15 Caigel6v

A. s81pB(H LEhETWSS UL 1958

B.73 speug) S5 &L L1D,1993

C. s8lpB(H LEpFTWSS &L LD, 1994

D. s181pmn(h LEpFMISS) Hl(HSHs &L L, 2016
Which of the following Act gives 50% reservation
for women in Tamilnadu Panchayat elections?

A. The Tamilnadu Panchayat Act, 1958

B. The 73¥ Amendment Act, 1993

C. The Tamilnadu Panchayat Act, 1994

D

. The Tamilnadu Panchayats Amendment Act,
2016

53) sUlpmHILgsy eIQUTIEE &FLL  Guwevemeu
RUl&sILLLE?

A. oypseivl 1, 1987 B. G 1,1989

C. meuury 1,1986 D. p&bury 1,1992

The State Legislative Council was abolished in
Tamilanaduon _____.

A. August1,1987

B. May],1989
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C. November 1, 1986
D. December 1,1992

54) SipsevoTLeummiei 618 Gy C5560 (Pemm?

A. @lwras senevel] Cagev

B. 5lpwns glemests seneveury Csigev

C. wnblevraisenemey Gige0

D. w&semencus Csigev

Which of the following election is the Direct
Election?

A. The President Election

B. The Vice-President Election

C. The Rajyasabha Elaction
D. The Loksabha Election

55) SpsaesuLaummie Fflwuneeng CaiHOs0 .

1) BHasldl o dullstt Qumpg OgsstenssTuilest
opullmd eflens@ L@GSHulley 26imem Lsiterflulled &
2 evoT6Y SILLLD SM(WSUIUHSSILLLG|.

2) sstienpwng 1926@60  GILICEHTS(6THESIT6sT

auns@Gflenbwnestg — OFstTemest  OMGTEBEISHS60
QUIPMBISLILILL &)

A 1ol @w B. 2wl B

C.1&2 D. sigi6ib Qevemev

Choose the correct statement.

1) In Thousand Light area of a school in
Chennai region, the Mid-day scheme was
introduced during Justice party rule

2) In 1926 the right to vote was granted to
women in Madras Presidency

A. lonly B. 2 only
C.1&2 D. Neither

56) S saevTLaubmie Heupnesieng CsibOS®E .
1) #1581 53 — WHEHW TFMRISSSH6OT S SMEIS6T

SIMEBTHFILD (BlLTES SHemevauiflLLbd 2 6T6Ng)| T6sTLINS

2 TS SIS MG

2) enpg 226 - 2wl BEHweTmraigeT
BHLIGUTTenesTHemem  Qeuellui(B 2 flemwenw
UPREIGSEDSI.

A. 1oC @b B. 2 bl H

Learning Leads To Ruling
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C.1&2 D. e1g16)1D @6vemen

Choose the incorrect statement.

1) Article 53 — Describes that the executive
power of the union shall be vested in
President

2) Article 226 — Gives right to High Court to
issue writs.

A. lonly B. 2 only
C.1&2 D. Neither
57) QuNp53)15.

a) eflymedlwensy — 1) Gom@ QFHTLEFS emev

b) w&saisd GCasAlw ymst — 2) smEpFunbd
LOMeUL L LD

c) @pHnanbs) euest 2.uflifl Fyesstmeowid — 3) Hevdif]
LD6®EL

d) GeLbsMmhsss UDEnESST &resmeowid — 4)
(&S wIeuL LD

A4 3 1 2

B2 4 3 1
C1l1 2 4 3
D3 1 2 4
Match the following.

a) Virali malai — 1) Western Ghats

b) Mukkurthi National Park — 2) Kanchipuram
district

c) Indira Gandhi National Park — 3) The Nilgris

d) Vedanthangal - 4) Trichy district

A4 3 1 2
B.2 4 3 1
cCl1 2 4 3
D.3 1 2 4

58) SwaevrLeummien Fflwnesteng CsiHOS®H.

1) @pdHwneilest Qongg UpliLeTey 32,87,263 &gy
HGeomBLLT op(&Lb.

2) 5 aLsE wsed 5 QsnE siLs Crens

suemWeTen LGS (GFHemy LFCrens  etetim)

SIP&SILIHEIDGI.
A. 1wl (hib B. 2w (hid
C.1&2 D. e1g16b Q6vemr60

Choose the correct answer.
Page 11 of 18



http://www.winmeen.com/

Group 4 GS Model Test

1) The total geographical area of India is
32,87,263 sq.km
2) The region between 5° North to 5° South is
called as Horse latitude.
A. lonly B. 2 only
C.1&2 D. Neither
59) Sipaevosumnilev Fflwnestens GBS0
1) euesriunmgsmiy Ll 1980 opb  pesor(h
Q& nessT(heuLILLLg|.
2) srfigrasr CaAWL LksST QhHenmsOsmbL
&MeseTLMBl (855 M@ QU QUbHDS).
A 1w (Ho B. 2wl (b
C.1&2 D. e1gi6|b Qevemev

Choose the correct statement.
1) The forest conservation Act was passed on
1980
2) Kaziranga National Park is famous for one-
horned rhinoceroses.
A. lonly B. 2 only
C.1&2 D. Neither

60) Qugpbumenesr &HSfl GueNSE  LONTEISET
snesoTLiLI(HD GlLevLn?

A. BT B. wammps

C. am®serfl D. snGeurfl

Most of the Mangrove trees are found in the deltas

A. Narmadha
B. Mahanadhi
C. Hoogly

D. Kaveri

61.459x1.8+3.6 +5.40f ;—=?

a.3.015 b. 2.705
c.2.695 d. None of these

459 x 1.3+3.6+5.4a‘n§—§=?
a.3.015 b. 2.705

c.2.695 d. srgi61b Qsvemev

Learning Leads To Ruling
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62. The marks scored by a set of students in a test

are 65, 97, 78, 49, 23, 48, 59, 98. The range for this

data is
a.90 b. 75
c.74 d. 73

omesoTeufseit G jalley eunmiflw wHLIGILIessISET 65,
97,78, 49, 23, 48, 59, 98 eresflev alleunruseflest aiss:

a.90 b. 75

c.74 d. 73

6. ERGBDMANKH2ACZSV3F1JLOQ5P
R

What will come in place of question mark in the

following sequence?

GDR BMP D45 ?
aMNQ b.4NQ
c.MKO dM4Q

E&GBDM4ANKH2ACZSV3F1JLOQS5PR
8B o6t auflemsuiles Cameialls (Gl 2 6item

BLSH)6v etetient eury Ceusvor(hid?
GDR BMP D45 ?
a.MNQ b.4NQ
c.MKO dM4Q

64. Ravi's monthly income is Rs. 12,000. He saves
Rs. 1200. The percentage of his expenditure and
savings are respectively

a.80% and 20% b. 80% and 15% c. 90% and 10% d.
95% and 5%

geflufledr om5 eu(mLoMssTD €. 12,000. Sj6uif G&1dl8 W0
Qzmems em. 1200. Seulflsst QFevey, Gadlliy
pHweumnlett #56IFMkIS6T (emmGu

o1 80% wHmib 20% @y, 85% wHmitd 15%
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&. 90% wmomib 10% rr. 95% mmib 5%

65. 45 x ? = 25% 0f 900

a.16.20 b. 4

c.5 d. 500

45 x ? = 900 6v 25%

a.16.20 b. 4

c.5 d. 500

66. The Simple interest on Rs. 68,000 at 16 ;% per
annum for 9 months is Rs
a. 8200 b. 8300

c. 8400 d. 8500

em, 68000-55 pevorh eully 16 g% aigsHlev 9

LM IEIB(6TH &(8 H6vfl aully e ____ 48 Q(HSGLW.
a. 8200 b. 8300
c. 8400 d. 8500

67. The value of 999% X 999 is

a. 990809 b. 998996

€. 998999 d. 999824

999% X 999 -6 ALY

a. 990809
€. 998999

b. 998996

d. 999824

68. A ribbon is cut into 3 pieces in the ratio 3:2:7.
If the total length of the ribbon is 24 m, find the
length of each piece

b.6m,4m,14m
d.4m,6m,14m

a.5m,9m,10m
c.8m,4m,12m
2416 Bengpeitem fliuemesr 3 : 2 : 7 etetim eflfls
05560 Qauligeomey, QeulLiulL gevsiBserfleor
1Bemib eTetTevI?

a.515,915 1015 b. 615, 415,14 1§

c. 815,415, 1218 d. 415,615,145
Learning Leads To Ruling
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69. Compare theratio2:3and4:7

a.> b.<

c.= d. None

2 :3 wHmib 47 eflHSz5608 QULIES.

a. > b.<

c.= d. e1g16y8l6v6M6V

70. Two taps can fill a tank in 30 minutes and 40
minutes respectively. Another tap can empty it in
24 minutes. If the tank is empty and all the three
taps are kept open, in how much time the tank will
be filled?
a.lhour b. 3 hours

c. 2 hours d. 4 hours

QM QsMigenw @@ (GEMissT SeoflssesflGw
weopGw 30 Hudlrumenr, 40 Huslrasefleo
Higtiyflesmgl. wHQPIEE @Gemi  BF  Hiybfw
Qs igenw 24 HliflLkisefle smell Qaww. Qs iy
sneflwung QHg Qs Gemisefles @Gy

sowsdlevr Hwhg alLuuliLmed  5QSMLIy

aggenent HISl_raserflev HiybLb?
a. 1 wewsfl b. 3 wessilger
c. 2 wevsflgeiT d. 4 wessllsei

71. The diagonal of a cube is 4v/3m. find the volume

a.64m? b. 48 m?®

c.12m? d.492m?

R HTEGITSS601 epenevailLib 4v3 1BLLI eresflev
SIH6UT H60T {616 6T6OTETT?
a. 64 15° b. 48 15°

c. 1268 d. 4.92 68

Page 13 of 18



http://www.winmeen.com/

Group 4 GS Model Test

72. The ratio of the area of a square to that of the
square drawn on its diagonal is
a.l:l b.1:2
c.1:3 d1:4
uplSii &L,

M  FHITHS6H SiSElenL W

ewenevailLLd euflwng euenquiLGBL &&I5S5H 60T

unuiih Lo 2 eierm aflflsomestg)
a.l:1 b.1:2
c.1:3 d.1l:4

73. The H.CF. of 2923 and 3239 is
a. 37 b. 47

c.73 d.79

2923 mmib 3239 eumnflest 15.GILL. 6.

a. 37 b. 47

c.73 d. 79

74. Find the difference between simple interest
and compound interest on Rs. 2400 at 2 years at 5%
per annum compounded annually

a.Rs.1 b.Rs. 12

c.Rs.6 d.Rs.3

em. 2400 58 5% 26501 auLlp eisd 2 Sy evorBs6rfl6v
feL&GD Fal [ aULlpsGD SHevfl aulipsh@D 2 6imem
allHwnsid &nevors.

a. em. 1 b. em. 12

C. ¢r5. 6 d.em. 3

75. Find the next term in the series: 198, 202, 211,
227, ....

a. 210 b. 212

c. 252 d.27

198, 202, 211, 227. .... etedo1m Qg,rn_lfls'u 31055
2 MIUEMLIS SMETI8:.

Learning Leads To Ruling
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a. 210 b. 212

c.252 d. 27

76. Find the L.C.M. of 48, 108 and 2807?
a. 15120 b. 15115

c. 15100 d. 15116

48, 108 wmmib 2805 1.QILIMN.L0. —g3 SHMEvoTS:.
a. 15120 b. 15115
c. 15100 d. 15116
77.1f 4x +5y = 83 andz—; =2, theny -x=?

a.3 b.4
c.7 d.11
3x 21

4x +5y =83 m‘rj)gjm5=z,srsuﬂei)y—x=?

a.3 b.4
c.7 d. 11

78. How many % are there in 37 %2?

a. 300 b. 200

c. 100 d. 500

37 %2 -60 BB -6 2 eiTemeTT?

a. 300 b. 200

c. 100 d. 500

79. The compound interest on Rs. 24,000
compounded half yearly for 1 %2 years at the rate of
10% per annum is
a. Rs. 3483 b. Rs. 3783

c.Rs. 3873 d. Rs, 3973

SengwnesoeHE QU (Weop allly Fal (B
peomulled em. 24,000 & pTTQLT6oTNISES 10%
alllg i 1 V2 oy evvipseflev HlenLs @b Fal (b cully
a. erp. 3483 b. em. 3783

C. em. 3873 d. ers. 3973
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80.IfA:B=2:3andB:C=4:5then C:Aisequal

to
a. 15:8 b.6:5
c.8:5 d.8:15

A:B=2:3wmm B:C=4:5eefloC: A=

a. 15:8 b.6:5
c.8:5 d.8:15
8l. @BHW wsaly (G5IFFevoTEL

6157 IT 11 &5 61) 60T 55 (615 &5 &5 IT 6T
SemeVem L LILIUN OGN WImETT Wwimy?

[A] BTUTS AB FHSI

[B]l o411 GO

[Cl wasLWg 160 smnF

[D] G&FML_GL 6uIT6L WITGH6

Who has been named as the chief coach for the
Indian women boxers?

[A] Gurbax Singh Sandhu

[B] Anoop Kumar

[C] Mohammed Ali Qamar

[D] Chhote Lal Yadav

82. FFeuCsHF F&HQHL HeyeT&Fedledr (ICC)
B W Semevenln & QFwev FH &l wmg?
[AIKP &riom

[B] nsn FmGeor

[C] GLom&s60T SHiT6rL LML

[D] NG m& T

Who has been appointed the new CEO of the
International Cricket Council (ICC)?

[A] K P Sharma

[B] Manu Sawhney

[C] Mohan Das Pai

[D] Vinod Rai

83. aTH S HHTSH 6V, 10946ug @HBS W LU
&600TSHITL G Q& ITL IS W 6iTergl?

[A] WbemL [B] Q& m&& 6ot

[C] AbeurT [D] emamsImLINgS

The 10th edition of the India Rubber Expo (IRE-
2019) has started in which of the following cities?
[A] Mumbai [B] Kochi

[C] Shimla [D] Hyderabad

Learning Leads To Ruling
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84. 2018940 SLOUT(HSEHTOT &HMTHS)
LB UL &FES Qg fleum& werer
SiemLoLIL / LI WITy?

[A] 78560 LNWITEOT HMESL_LemrerT

[B] 218qWILILITESS T SMEEL_L6eme6rT
[ClGwmGam &6 (Yohei Sasakawa)

[D] &6vL1 @) 600TL_[F GIH61Q.60T6L

Which organisation / personality has been chosen
for the Gandhi Peace Prize 2018?

[A] Ekal Abhiyan Trust

[B] Akshaya Patra Foundation

[C] Yohei Sasakawa

[D] Sulabh International

85. 83eug FeofllLy GxHEAIW LIMLLO6OTL 66T
grbllweradlll 2019 LD 3,600TLY. M85 T60T
peor&HeT  @memmwy  Wfleflév  LLLIb
QeueTmeEUy Wmy?

[Al A pmam QFL L

[B] Ygeoteu Qi Kl Gamiym

[C] svaadl W Q& 60T

[D] euryLl euyom

Who has won the men&#39;s singles event at the
83rd Senior National Badminton Championships
2019?

[A] Chirag Shetty

[B] Pranaav Jerry Chopra

[C] Lakshya Sen

[D] Sourabh Verma

86. FLSLISH 6L SHIMEULDITET HLOEUIT FIhI 6THS

QumBufledr USWDQOUMM WSS
SLEUMF?

[A] e@lquuirT [B] Qumissmed

[C] @& [D] 2 ®al

Namvar Singh, who passed away recently, was the
renowned writer of which language?

[A] Odia [B] Bengali

[C] Hindi [D] Urdu

87. eurflenSlev HeOLQLIMHM 2 5
aflemerwmL® eflpmeliley 20195 &Te0T 2608
aflemerwimL(® afgoms
CHETHASHSSHLILILL6UT WITF?

[A] DGaMBHHTFIHI C55meof]

[B] L& eyL_6n
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[C] virat kohli

[D] novak djokovic

Who won the World Sportsman of the Year award
at the 2019 Laureus World Sports Honours?

[A] M S Dhoni

[B] Tiger Woods

[C] Virat Kohli

[D] Novak Djokovic

88. 3LLICTaq60T L9 L 6L CUMT(H 6T&HSIL 60T
QML W SI?

[A] TuN6LGeu B56v0TSMTevOT UL

[B] @ 6me6v0r W LIMSISTLILY

[C] W etTevTETD) QUMBIG G5 66U 6IT

[D] 9Bl L6 &H6val (e

Operation Digital Board is associated with which
of the following purposes?

[A] Railway Tracking

[B] Cyber Security

[C] e-banking services

[D] Digitization of education

89. @BBWmelledT (WPFHL 2empeL FHHILIL
Sem6eVeUr s BlWLS&&LILLB6Temeuy Wimy?
[Al TT&5 Ges

[B] @y g 60T FESITIT

[CIPC Gamaqg

[D] 4eiq6flenf] M wofLig

Who has been named as India's first anti-
corruption ombudsman?

[A] Rachit Seth

[B] Aradhana Rathore

[C] P C Ghose

[D] Ashwini M Sripad

90. eThg (Lpedreormeir @ 6rVCTT 69EhEh el
2019 LSL0 LLeq6tT 69 (HemS QLIMMITIT?

[A] K. & TS ([ 619.600T60T

[B] BLOLI) BTy T 600T 60T

[C] sumesT WervFT

[D] BE&6of] @B

Which former ISRO scientist is the recipient of the
2019 Padma Bhushan?

[A] K. Radhakrishnan

[B] Nambi Narayanan

[C] Tapan Misra
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[D] Nandini Harinath

91. e'Hhs @QHHW 2 emelwevmery 2019
ammeterv  Hedlwedr eflpg (Hans Kilian
Award) QUM 2_6TeTTy?

[A] @ fleiqeury WWervm

[B]l =&\ &80

[C] syaflev BHS)

[D] ®|Baq My LML G&

Which Indian psychologist is the recipient of the
2019 Hans Kilian Award?

[A] Girishwar Misra

[B] Sudhir Kakar

[C] Ashis Nandy

[D] Kishor Phadke

92. GxF W 6N&Ms euUMTLD, 6THS L0 S SIL 60T
QsTLILemLWSI?

[Al a5 &1

[B] @& 56110

[C]l QueTs &0

[D] &LoevoTLD

National Vesak Week, which is in news recently, is
associated to which of the following religions?

[A] Christianism

[B] Jainism

[C] Hinduism

[D] Buddhism

93. @\1b &\ wimed 6ot 6TH &
wellweTNTCHFEH6L, QFHCIem ey
3|60 L0 G 6IT6TSI?.

[A] @6vL_F58 6 86T

[B] Ug1&G& ]

[C] LTneoT & 60L_Wl,

[D] 2B LOMEDT & Bl&HGSHTLIT

Teressa Island is located in which of the following
union territories of India?

[A] Lakshadweep

[B] Andaman & Nicobar

[C] Puducherry

[D] Daman & Diu

94. pLUUMeoT(R) &FHeuGsh& (& (HLDLIMIG6T
&)\ 6015 518 8 TEUT & (IH LI G LIT(H 6T 6T60T60T?

[A] Families and inclusive societies

[B] Families and Climate Action: Focus on SDG 13
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[C] Families, education and well-being

[D] Families, healthy lives and sustainable future
What is the theme of the 2019 edition of
International Day of Families?

[A] Families and inclusive societies

[B] Families and Climate Action: Focus on SDG 13
[C] Families, education and well-being

[D] Families, healthy lives and sustainable future
95. GUTES QFwWeWenm FmeormerflliLg
BLLSBOT SHCUTOSW  HM6EV6UITTS
2_eiter HIT(H 6TH1?

[A] Qs ereor LN G 8T

[Bl @pequirm

[Cl@b&wir

[D] GEeorim

Which country is the current chair of Kimberley
Process Certification Scheme (KPCS)?

[A] South Africa

[B] Russia

[C] India

[D] China

96. &MIHev GuUMflvy QeumMAuUmHM 20
p6ugl L600T(R HBlemmeSledT & (HLIG LITH 6T
6T60T6OT?

[A] Remember, Rejoice and Renew

[B] Pride, Honour and Inspire

[C] Salute valour of the armed forces

[D] Peace &amp; Humanity

What is the theme of the 20 th anniversary of
victory in Kargil war?

[A] Remember, Rejoice and Renew

[B] Pride, Honour and Inspire

[C] Salute valour of the armed forces

[D] Peace &amp; Humanity

97. aBHss5 GCHHUNEY, 2.6vs CNGCHTT
@S 56 NSl evoT Ty Sifzugh)
S L9GsULGSMmS?
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[A] &7® 60T 15 [B] eg®etr 14

[C] eg®60rT 16 [D] ez®60r 13

On which date, the 2019 edition of World Elder
Abuse Awareness Day is observed?

[A] June 15 [B] June 14

[C] June 13 [D] June 13

098. 2019@\6V L& &FFeuCsHF GLIL LAlevoTL 60T
ULLSemS Qeueirm @S W ey wimy?

[A] LueTerfl smeiquiL

[B] Was b G minL

[C]l amT&ev Leof]

[D] Y. &l Yyeofs

Which Indian sportsperson has clinched the 2019
Dutch International badminton title?

[A] Parupalli Kashyap

[B] Srikanth Kidambi

[C] Harsheel Dani

[D] B. Sai Praneeth

99. @BH W melledr (WLSH6L , “foreign interactive
and exotic world park” ehHE HEHEIHH 6L
augell(B &R MII?

[A] (pLheYLI [B] &M

[Cl Q&smeLESHT [D] Q&FedT6mY 60T

India’s first foreign interactive and exotic world
park has come up in which of the following cities?
[A] Mumbai [B] Kochi

[C] Kolkata [D] Chennai

100. FSLSHW QFLG &6 lev Ml
CHITE [ CLMD CHeUmeuwlld 6THS HITL L&
CFIHSSI?

[Al @856l [B] @&l

[C] »LuymedTeny [D] @27 neof]

Notre Dame, sometimes seen in news, is located in

which country?
[A] Italy [B] United Kingdom
[C] France [D] Germany
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Group 4 VAO General Studies Model Test 16 — Answer Key

Q A Q| A Q@ A Q@ A|aq A
D) | p 2| A |ap]|c|ep]| c|8y]c
) | c |2 c |4 ale)| B[] B
3) | D |29 D |43 | B |63 | A [83) | &
9 | A |29 A ey A ]er| c|sy]| c
5) | ¢ [25)| A |45 | D |e65) | c [85) | D
6) | D [26)| B |[46)| c [66) | D [86) | C
7 | p|2n| a|an| B |en| B |8 D
8 | B [28)| B |48 | B |68 | B [8) | D
9 | A [2990] c 49| A |69 ] a [89)] C
100 | ¢ [30| B |50 D [70] A |90] B
) | B [sp | B[] D || A |o]c
12) | A 3| c |5 bp || B |w]c
13) | D [33) | A [53)| c [73] D [93]| D
149) | D (39| p |59 ]| D |[79]| c |[99] B
15 | ¢ [35 | c [s5| c [ ] c |9 ] c
16) | A [3) | D |56)| D [76)] A [96) | A
17 | p [sn| alsn| B |[7™m|B|on]| A
18) | B [38) | B [589) | A [789] A |99 | c
199 | B [39) | c [59] c [79] B |99 A
200 | ¢ 40| D [60) | c [80) | A [100] C
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